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@ EHFEE(E830%,3702 )47/ x30%/33] & = 0.4470/%
16mm<=-8309,3709)):871 /4 x30%/38] & = 0.807}/%
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= 0.048%1/%
= 0.01691/%
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H] (H 2,SD300,D16 ~D32mm):6.2ke/ %
EHI6. Okg/ &
A7t 2 Z2H(ZF):0.006ton/ 2
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1. ebolo] & 23 2 (D12.5m,d =] o] 80% *1-8)
1) A 2 ¥:(1.33ke/m/1000kg=1.69%1)x12m/ & x80%
= 0.022%1/%

2) BF17:(1.33ke/m/1000kgx0.69¢1)x12m/+2x80%
= 0.009%1/%

3 A (D12.5mm, %] €] 80% #]-&)

32 x474/25074x80% = 0.038%1/+

10x470/25071x80% = 0.013%1/%

2. =

1)74%—7

S
2) HElyl

P.S.C A€ SOLE
PLATEA A
(300x300%22mn)

o

- AR E E 91):1(0.30m*0.30m*0.022m x 7850k g/m
x1.10(&%))x27] = 34.19kg

- A E S A 91):(0.30m*0.30mx0.022m *x7850kg/m) x 27
= 31.09kg

- A H:34.19kg-31.09kg = 3.1kg

2. A & W

1) 7Z-¥(22mn):34.19kg

2) A t:3.10kg

3) PAEE(D16x200mm):87]x1.03(F) = 8.2471
3. FAEA = 2] (7h):31.09kg
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